SHIFE12ARKEFROBE

1. HETERE (B - FM)
= i ERT O%E il IF4H fiiEt2 D%
— B & 3 16,325,498 211,277 16,536,775
5%?@%%% 3,280,731 124,582 3,414,313
<F = §
ANSEEAD S %: |/_\§
g 'ﬁgg;;gﬁ 2,841,092 117,952 2,959,044
ZN
S AR R I 2 2
(;%fif%g;;ﬂ%) 61,382 37 61,419
ﬁ’ﬁﬁgjwﬁfzf 557,432 16 557,448
ST -~ 5]
2. FIHEE
(1) HFHEOFT DA ILRAREIEXE (Bfr : FH)
B
5 % g | METHE i oy
# v 2 NI R
%}5%@L—)—74»7\ 11,238 il aa o 4 R0RGEYL A L EIE
et et e E 11,238} SEIHERE (3 1 HBERE) 2475 2o 0%l | s r—7
ﬂ%’:) e Tl A B S 2 b 0,




(2) Z0ith (B . FH)
: IETHEEH e
% g g | ML MR oy
71w 2 PR E R
(5740) Hi 7 AT B O E RO ILE # &
& B 4 1265 | DRIBESIEABIE & e THTAFEE
S | o ERYUET 2 A IS E4 A | HEAF
(RBEEEFLER | grgamis B \ \ u
51 45 [ B 5 - Ang 1H»oEfTE N3 2 LItk - CREES TN —F
E20RD 550 - HAZE DO 21T 5 72, e
¥ ERTT 5D,
(549] . EEm S EA RS EE 3 5 hk
» " N L 41 NS
” — RER (X VEVEESS) OFEE i
b [ TV N TELH
ﬁ}fﬁgﬁigz p ;ﬁé et | ©7 3 AR, EROMEREL L | i’fx
WS o 5,965 | ®LLRIREREEFZX 5 -0, #Hibh
SR T 2 H D,
3,790
€5 [ %ﬁ%SOO]
A JE 2 B b 2R ’ BY) 72 IR - R IC X B MR SRR
BORGEE R | s | oo XRRMHCRGT s, wE | T
(5 #e R ZE 5 5700 | ANEERHTAE DTG 2 HHT 2 b D,
XA TSR [%ﬂﬁ ]
4,200
3. &% (B - M)
A0 i ERTR il IE48 RS
B B 3 % K 4 1,518,080,948 A93,077,944 1,425,003,004




